1000 1300 670
Ty H-fE ‘
/k /k LN
——— | £+ Lry
,23::::34;::::;;::::;;: ;;E\\ =
/1 \\
/| | | \
( |
= o l_/D) 5 i s
NN |
\\\\ )ﬁ&i | IIII
\\ 3-9600 1]
ettt ~S0 gl _ =
— |4 & B
= \ #4920 [
b
254 3070 125 5
ll*\—
3570
A57VEN $ = 1/50
RAE  TEBTRE HRE
¢ 125

¢125\\

300
O
1

80

1810
1650

80
//’____7
snon
H‘H}m

\
VA VA

2650

A/ ﬁﬁiE/ ﬁEEE/ i%iEEI%EHL’E\ £
480x200 300x160
1110 730 1070 4500
3410
80
3570
\l/
¥ @ S = 1/50
HAE BEE t-s-70-0 420 RRO  £HE HEE
S ¢ 125 ¢50\300X80/ ¢75// %50 //¢125
= ; —1/T— : 5
= A\ 4 sy =
— %ﬁ#;?; il
2 |- TGk
_ Tl= e |© gl
S =i )
o~ BHREN
................... R 6 ;q
5 | p o Jo/l
s 7] 71,
'-”O— 7 7 1] 3R
= t8BAEE / w4 /use / [enze \ pie
W @ S = 1/50

¥ EBLMHEeR - TUN-WE BAELLIOELORNNS2HZEICRITT IO,

@ avio-udy 7X0BK0 (K) CEH
80| @ avio-ady /XKD (K) KEF
®) avio-wdy 2 20BKD () KB&

50

2650

Bt

57 b | 5-D13]  013-2000 | 5-D13
55 T | 5-013]  D13-2000 | 5-D13
500 1410 500 AR VZX-12 -
I 1 1 | D_\ —
_ ] ] BEE A 12 A Ak,
S 6L, - BTG E 2,40 n3/B # A
R === = > 30D 200 ne/L \ |
' [23:1 D13-2008 |t RAKKE S S 160 mg/L b L ]
_1 T8 4-013 I T-N 50 mg/L —EVD—& HABRHS-2 ,
o| = d 300 10 mg/L ! ‘
N ST gy AR S S 10 me/l EeBTHE .
| - T-N_ 10 ma/l | e
%t 33 013-2000 [[] S [ EREE |
s L - ! 2 | A9me W) | o ! T
= = — 1 3 Eikd (0.76) . RARGM B
= ‘ ‘ ‘ AR $-% 1.99 A  —
500 ] 1410 | 500 ] BEoERlE 2-% 1.54 +CVD BhEAN
57 L |5-013|  D13-2000 | 5-D13 BARAE 2.42 o !
|57 T4 15-013]  013-2000 [5-D13 kY 91 0.76 | 780 | | wzw |
BEH® 0.05 !
L $ = 1/50 B
o & k4 it 53
yATD) 1 20 AX 150 L /% x (.02 MPa X 200 W SD-1508
0 D16 [ 2] BOOXFUARETHLT 2,
ERROREAZ2 oY EALEOTRAT v » THOWNBTEIEL,
_ BERKHEE-—ZORBRNEDSELT A,
3 JOUORBRBCI NS ERREORRAX(L2BAHHS,
e M \EEUBERISOTHTHY, SBURGIHLT 2,
S o e e
D494 AW\
B \\ Yy, 304
D13-2000 5 7 b S
. 7a7 - (b-
TYH-BAR (RGTE) BAN ($2)
_S= I/NTS =
5=1/15 =
BLREEE (£ 7y V) 2
2 # | 44z | we@) ~
Y=ynRw Il 5/8 4
BRELSLy0E /
i48 324 128i
CB-A
E:ﬁ |:| Tiﬁ% 35\‘1'77 K ﬁ 31'1
RiE (L)
8| 1500k (SAHE 15k S
g FRP& 1 4 7
i PPY 100110/ 110] 180 160 73| 203
fi £ Oy 70
e
F 5 B o & M H ¥ B ] Z %
. A : e
" P A YIVORMH | mEeRIEsASl
- ‘EA% T E ® @ |§ A B |7 E| | ?;I| b 5%
= e z : m :m
T6 100V 50Hz 84503 = 5 =5 T8 5 %5
vZx-lz 10062012
T6 100V 60Hz 84504 HEX (T6)




